%

SD.
X2
p-value
TC
TC
TC2
TC3
TC4

1-4

511

12-19
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TC6

TL
TLI
TL2
TL3
TK
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60 - 69
70 - 79
80 - 90

100

13

26

100

67

41

64.0
26.0
100

88.0
120

100.0

67.0
33.0

53.0
41.0
4.0
20

48



1(0)

69

90
100.0

53.0

64.0

79.0

70-79
88.0
67.0

41.0
120

49

79.0
120
8.0

10

26.0



1,000
1,001 - 3,000
3,001 - 5,000

5,001

1,000

1,001 - 3,000

3,001 - 5,000
5,001

91.0
1,000 26.0

26.0

26

26

5,001

63.0

50

20
3.0
4.0
91.0

26.0
150
3.0

56.0

93.0
7.0

63.0
26.0
8.0
3.0

5,0001
56.0
93.0



1-5
6-10
1n-38

140/90
140/90 - 160/95
160/95

92

94

47

10

16

42
28

920
6.0
20

94.0
4.0
20

86.0
130
10

47.0
430
100

36.0
48.0
16.0

42.0
280
210

9.0

ol



94.0

1-5

21.0

6-10

140/190-160/95

92.0

130

47.0

140/90

43.0

36.0

86.0

42.0, 28.0
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4 .

15
16

16

0.76

< 50 (
51 - 75 (

x  SD.
91 29
90 30
90 30
85 36
84 37
84 37
18 A4
76 43
67 A7
59 49
57 50
52 50
37 A0
35 A4
A 4
29 46

10.45

2.32

0-8



91, .90, .90,

37, .35, 31, .29

54



100

5-11

=1-1.49

4

= 150 - 2.49

(X) = 2503

55



~ o o1 &~

10

5 ©
.3.
- 1
6-8 I
;
690, 590, 5.0

231

15
69

58

51
36
42
50
4

pal

%
79.0
69.0

58.0

51.0
36.0
420
50.0
410
230

210

14

34

36
55
43
23
40
69

59

X
% N %
0018 180 257
W0+ 17 170 252
0 8 80 250
30 13 130 238
550 9 90 2
30 15 150 22
280 27 00 22
00 19 190 22
690 8 80 215
50 2 200 201

231
2.51, 2.52, 2.0,
19.0, 69.0, 58.0

56

SD.

18
a7

64

ik
62
1
85
15
A

64

29



E-NIC N C RN

1-2

12
12

490 510

Noo% N % N %
% %0 1 10 1 10
89 80 6 60- 5 50
76760 20 200 4 40
49 490 51 510
2.76

1-2
98.0, 89.0, 76.0

297
2.85
212
249

2.76

SD.

22
49
53
50

25



430

15-30

1.96

n
59

39

40

1.0

%
71.0
59.0
39.0

40.0

15

-30

45.0

N

15

59.0

X
% N %
7o 2 120 259
010 2B
180 43 430 19
50 45 450 1%
2.25
2.25
2.59
2.53
1.9

58

SD.

63

a

93
52



59

SD

18
67
15
1

43

5
X
Noo% N % N %
720720 10 00 18 180 254
h 0 4 40 » o 120 229
70 B B0 48 480 169
B 10 % B0 R 50 16
203
2.54
2.0
2.29 41.0
1.69 , 48.0
161

52.0
2.03



« (
N %
1 9 0.0
2 Ve 770
3 5] 580
4 53] 530
48 480
6 49 490
7 50 50.0
8 , B 30
9 8 180
9
]
2.80, 2.70

55.0

N %-
0 100
6 160
0D 00
19 190
% O
2 20
% 260
& 470
% 550
2.36
90.0, 77.0

%

7.0
120

230
160
20

240

20
2710

191

280
270
246

235
23
227

226
213
19
236

SD.

B

8

8 9 3B
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10

10

2.75

281

2.34

g Nadd Rz

N

1.69,

%
84.0
790
750
710
630
550
410
210

300

6.0

1.64

P

7

%
130
170
6.0
130
260
350
47.0
63.0

9.0

520

79.0

BRK BRB B & w Z

2

%
30
40
190
160
110
100
120
100

610

420

281
275
256
2%
252
245
229
217

1

164

234

84.0

61.0

6l

SD

83383 BB S

i



[ T O SO C N

10

100 15
1.50-2.49
1-1.49 il

11

2,61
241
241
201
19

2.28
2.89
281
2.4
243

167
245

62

2.50-3

S.D.

99
T4
60
1o
13



=

13
14

241

1 ()

11

245

281

2.89

1.87

1.98
1.40

242
198
18
172
140

2.28

2.28

63

SD.

il
89
b7
1
b7

3

2.67

242



cofficiency)
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INAN A

mfl

1,000

1001 - 3,000

3,001 - 5,000
5001

12-19

%

182
2.9

2.0
189
317

28
2.0
375

2.0
253

N BB w &

g2

B w w N

%

818
731

750
8L1
683

772
750
625
100.0

7.0
747

64

)

(Pearson product moment correlation

% N

Q » w N

%

330
67.0

40
530
410

20

790
120
80
10

20
30
40
910

1082

(TC)

9141

27343

11856

16622

p-value



TC

5,001

14

P

12

% N %
49 40 81
26 29 674
00 7700
< .05
49.0, 27.0
1-5
6-10

70.0

11

c X p-value

47 470

4-}0 4% 1975 4.0608 1313

05

75.0, 81.1, 68.3 100.0
7.2
4.7
85.7
67.4
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1,000

1001 - 3,000

3,001 - 5,000
5,001

1-5)
6- loti
11

N %
21
2 328
1 250
2 226
6 300
2 218
3 250
4 50.0
1 20
28 308
n 24
2 279
6 60.0

"< (5

NROBR N S

kA o 8

S w w N

&

%

788
65.7

500
774
610

745
1
40.0

%

15

250

13

1000

21

N B g s Q

5 3

Q »n w N

&

%

330
67.0

40
530
410
20

790
120
80

10

20
30
40
910

47.0
430
100

1423

2455

X p-value
2.0660 3559
281343 0001’
25121 8671
23717 8825
64133 1703
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05

21.8
5,001
30.8
1-5
6-10
il

05 (% —28.1343)

67

26.0, 44.0
7.4 :
0.9
50.0
68.1
4.5
2.1 b
60.0
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1,000

1001 - 3,000

3111 - 5,000
51Xl

1-5]
6-10 ]
1]

N %
2 87.9
62 R5
4 1000
49 925
6 878
2 1000
7L 89.9
n 91.7
8 11X10
1 1000
1 500
1 B3
3 75.0
36 A5
42 894
0 0.7
10 1000

* < (5

O = N P

%

21
75

75
122

101
83

50.0
66.7
250

55

106

%

I S

L » w N

330
67.0

40
530
410

20

79.0
120
80
10

20
30
40
910

47.0
430
100

0763

1107

1004

.1065

12410

10190

189018

11478

68

p-value

7431



87.9, 92.5
100.0

94.5
6-10

14

100.0

90.7 il

05

89.9
5,001
1-5
100.0

69

05 (%2 =18.9018)

92.0 87.0
91.7

89.4,
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1,000

1001 - 3,000

3001 - 5000
5001

1-5il
6- 10il
Ltir

(Tcé)

TC3
N %
16 485
30 48
2 528
18 439
A 430
6 500
5 625
1 1000
1 500
1 250
44 484
5 532
19 42
2 20

*p< .03

N B RS 83

S

%

485
493

500
415
51

532
333
375

750
473

404
512
800

30
6.0

500
57

38
167

500

44

64
47

@ = @ N - oo 3

&

%

330
67.0

40
530
410

20

790
120
80
10

20
30
4.0

910

470

0670

238237

6.8315

135773

54265

10

p-value

2463
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1,000
5,001
1-5

80.0

05
(X2 = 23.8237)
185
493
50.0
415, 56.1, 100.0
53.2
50.0, 62.0, 100.0
50.0
48.4
53.2, 6-10
512 Il

05

71
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TA

wn_ A

« -)

1,000
1,001 - 3,000
3,001 - 5,000

5,001

1-511
6- 10t

N %
7 212
16 239
12 26
10 244
1 50.0
17 215
4 333
2 50
1 33
1 250
2 231
ik 234
10 233
2 200

# < (5

2

&

8 w v koo o &8 ~ B 8 »

B

%

727
64.2

736
%1
50.0

681
674
60.0

(TCA)
% N
61 3
119 67
- 4
38 53
195 4
_ 2
ns5 1M
- 12
125 8
1

- 2

- 3

- 4
110 9
85 47
93 43
200 10

%

330
67.0

40
530
410

20

790
120
80
10

20
30
40
910

470
430
100

.1030

12

X: p-value
10739 5845
9.7626 1330
25665 8609
19742 9220
1514 .86%
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05
12.7, 64.2
100.0 ,

11.0

13

73.6 56.1
50.0
5,001
65.9
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1000
1,001 - 3,000
3,001 - 5,000

5,001

1-5 ]
6-10]

2[63
N %

7 212

A 463

2 500

2 26
24 585

2 100
% 430

3 375

1 1m0
1 3

1 250

% 306
5 319
16 37.2

7 700

"< (5

7

H w v N

8

%

788
537

50.0
74
415

570

625

66.7
750
604

81
628
300

(TC5)

Q

Q » w N I N B g s

&

%

330
67.0

40
530
410

20

790
120
80

10

20
30
40
910

470
430
100

3B17

1

5.8919

141161

9.8383

16345

5.0965

14

p-value

0152"

0027

0782

0782



il

62.8

57.0

1-5

17

6-10

58.5

05 (X —-5.8919, 14.1161)

100.0
60.4

05

7.4

70.0

5

—_—)

8.8 53.7

5,001

68.1
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1,000
1,001 - 3,000
3001 - 5,000
5001 I

1-5 ]
6- 10

N %
33
2 313
3 7.0
16 302
13 3L7
2 KXLO
23 21
6 50.0
3 375
1 50.0
2 66.7
1 -
2 3L9
B 217
16 372
3 300

*n<.05

B

oo o &

B = r

®

%

66.7
68.7

709
50.0
625

50.0

333

81

723

62.8
700

%

Q

R = « N I I S N B g o

&

(TC6)

330
67.0

40
530
410

20

7.0
120
80
10

20

30
4.0
910

470
430
100

2057

1612

0976

X

44216

26709

38377

76

p-value

8410

6183
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05
66.7 68.7
69.8 68.3
0.9 5,001
66.1 31.5
1-5 123,
6-10 62.8 11 70.0



19

correlation coefficient)

19

(r = 3228)

2337)

TC

0272
0221
2722

-1572

.2361*

TC2
0249

1247

05

05 (r = 2361, .2869)

8

(Pearson product moment

TC3

05

A TGS TC6
0915 0414 0293
uss  -1772 1523
0828 2331’ 1918
-.0229 0303 -2250
- X174 1088 2869
05

(r = .2389)

05 (r= 2721,
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